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ﬁ WORKSHEET#9

The following table shows the number runs 6 players scored in a cricket
match.
Draw a bar chart for the following data & answer the questions.

Narme Jack James | Michael Peter Timmy
Runs Scored | 15 50 45 20 60
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Answer the following questions based on the bar graph.

1) Who scored the maximum number of runs?

2) How many more runs James score than Jack?

3) Who scored more runs: James or Timmy?

4) How many runs did Jack, James and Peter score altogether?

5) Which Player scored half a century?

WWWVVWWWVVWWWVVWWWVVWWWVVWWWWWWWWWWWWVVVVVVVVVV

“Please log in to www.letsshareknowledge.com for more worksheets"
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1) Timmy
2) 35
3) Timmy
4) 85

5) James

“Please log in to www.letsshareknowledge.com for more worksheets"

AAAAAAAAAAAAAAAAAAAAAAAMAAMAAMAMAAMAAMAAMAAMAAMAAMAAMAAMAMAMAMAMAMAAMAAMAMAAMAAAAALAALAAAAAAAAAL



